5x-0,25: (x-11)° 25, (7x)°

3 4 2
0,25x%+5x (x-11)° (x7)° 7)
: ;. ==6,25-

0,25(—x2+20x> (X-ll)2 _ 6,252 (x-7)2
3 4 T 2 02

x%-20x (x- 11) 6,25-2—(x—7)2

12~ 4 2
x2-20x (x-11)°3  12,5-x°+14x-49

12 ° 43 77 2

-<x2-20x)-(x2-22x+121)3 : -36,5-x2+14x
12 o 2

(P-20x)(3x%-66x+363)  x*-14x+36,5
12 - 2
-x2+20x-3x2+66x-363 _ 0,5(2x2-28x+73)
12 - 2

4X2-86X+363 L 2X2-28x+73
) 12 T 4

4x2 86x+363+2x2 28x+73 -0
) 12 4

-<4X2-86X+363)+(2X2-28x+73>3
12

=0

(4x2-86x+363)+(6x%-84x+219)
12

=0

—4X2+86X 363+6x2 84x+219 -0

12

2x2+2x-144
12

2(x2+x-72>
12



x2+x—72_

5 =

Hpo6p oOpaiiaercst B HyJIb TOTa, KOTJa YHCIUTEIb PABEH HYJIIO.

x2+x-72:0

Haxoaum nuckprMUHAHT.

D=b2—4ac=12

_-b=[D

X127 2a

1-17 1417
X\ 21 9% 9

-4-1(-72)=289

OoTBET: X=-9;X=8



